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QUESTION 1

DRAG DROP 

Place the following items in the order that the BIG-IP device uses when processing a packet. 

Select and Place: 

Correct Answer: 
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1) Check for a match with a self-IP 

2) Search for an existing connection 

3) Examine source IP for a standalone SNAT 

4) Check if the destination matches a NAT 

5) Look for a virtual server address match 

6) Look for a match in a packet filter rule 

 

QUESTION 2

Which protocol data unit (PDU) is associated with the OSI model\\'s Physical layer? 

A. Frame 

B. Datagram 

C. Segment 

D. Bit 

Correct Answer: D 

https//en.wikipedia.org/wiki/Protocol data unit 
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QUESTION 3

Which two daemons only run after the entire license process has been completed? (Choose two.) 

A. zrd 

B. tmm 

C. ntpd 

D. gtmd 

Correct Answer: AD 

 

QUESTION 4

What percentage of storage in a typical environment is actively used and modified? 

A. 5% 

B. 50% 

C. 25% 

D. 10% 

E. 90% 

Correct Answer: D 

 

QUESTION 5

A pool is using Round Trip Time as its load balancing method (Alternate: Round Robin; Fallback: 

None). The last five resolutions have been C, D, C, D, C. Given the current conditions shown in the table below, which
address will be used for the next resolution? 

A. A 
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B. B 

C. C 

D. D 

Correct Answer: B 
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